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Time: 2:30 Horus ' Marks: 75
Note: All Questions are Compuisory
Q.1)
(a) Fill in the blanks (Any8) (8)
1. Full form of DIN is
2. The of company must be lifted if the company assumes as enemy character.
3. Sharing of profit is important in partnership although sharing of " isnot requisite.
4. A minor is given months to decide whether or not he wants to become a partner.
5 Publication in the is necessary for dissolution of firms irrespective of
whether the firm is registered or not.
6. Copy right is granted for years.
7 Patent is granted for years.
is a person who agrees to subscribe the prescribed amount of shares if the
shares issued not fully subscribed.
9. The penalty for failure to furnish any documents, return or report to the Board is
in SEBI.
10. The is an invitation to an offer to public.
(b) True or False : (Any 7) (7)
1. In case of conflict between Memorandum of Association and Article of Association,
Memorandum of Association prevails.
2. Dactrine for the benefit of Company is called as Doctrine of Indoor Management. -
3. Adaption of Navel amounts to Viclation of Copyright.
4, Trademark is transferable.
5. LLP cannot be would up.
6. Contribution under LLP shall be entered for determining the profit sharing.
7. Notice to an active partner is notice only to that Partner and not to the Firm.
8. Sharing of Profit is Primafacie evidence of Partnership.
S. An appeal against the order of SAT under SEBI Act may file in Supreme Court.
10. Listing of Securities means grant of approval for dealing in certain securities at a stock
exchange.
Q.2)

“(a) Explain Characteristics of Company. (8)
(b) Explain Doctrine of Ultra Vires and Doctrine of Indoor Management (7)
OR
(c) Explain Prospectus and What are the different types of Prospectus ? ~i (8)
(d) What is Private Placement. Explain rules of Private Placement. (7)

Q.3)

(a) What is Copyright and what do you mean by original work in Copyright ? (8)
(b) What is Patent and What is Patentable and non Patentable. (7)
OR
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er/ Subject Code: 77802 / Foundation Course in Financial Markets- Foundation Course IV { bj ,
Q P Code 34002

Q.3 A)Write a note on Central Bank as a participant of Forex Market. (8)
B) Difference between FERA and FEMA. S (7)
OR P S

Q.3 C) Identify the locations and convert the following in to indirect quotus
i) USDINR 60.5060/61.5150 =
ii) GBPAUD 1.2050/1.2150
D) From the following find out spread, % spread and mid-rate. a 2y )]
USDINR 65.2350/66.2560 - :

Q.4 A) Discuss Managed Floating. ; . ‘(8);; Sy
B) Explain spot Contract. I LY S
S5 £
Q.4 C) Find out any arbitrage gain from the following. Assume capital Rs.1. milhon.‘ ey
USDINR 65.3250/65.5550 Bank A S
USDINR 66.5850/66.6580 Bank B
D) Find out the Forward Rate for the following for 1 month & 2 months WX
Spot USDINR - 63.5000/63.8000 ‘
1 month margin 50/60
2 month margin 756/556

Q.5 A) Explain the types of Foreign Exchange Risk. -~ 8
B) Discuss Technique of Ferex Risk management. (7)
OR : :
(15)

Q.5) Short notes on (Any 3)
a) Vehicle currency
b) Speculation
c) Direct quote
d) Arbitrage
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AP PO Paper / Subject Code: 77807 / Corporate Finance
Zé- iy

(2% Hours) (Total Marks : 75)

Note: 1) All questions are compulsory.
2) Working Notes should form part of your answer.

3) Figures to the right indicate full marks.

Q-1) (A) State whether following statements are true or false: (Any eight) : R (08)- S

1. Shareholders are interested in maximising their wealth.

2. Risk and return always goes hand in hand.
3. Rate of interest for debentures is fixed
4. Cash Inflow = NPAT + Depreciation
5. Contribution = Profit + Fixed Cost .
6. Preference Shares are given ﬂexible rate of dividend.
’ 7. Profitability Index is tradmonal method of assessing capnai e*{pendlture decmon\
v 8. An overcapitalized company IS one Wthh incurs exceptlonally h}gh proﬁta as compared
to industry. SSEg L - P
9. Capital Budgeting refers ti' mlx ofa company debt ng
10. P/E Ratio stands for Preference Eqmty
Q-1) (B) Match the cohfm‘n"s}’(A:,\n}-"s,égéh) 3T } 3 :;’ A4 (07)
“Column A - 2 p | Column B
I.LVAsset‘s A | V;Issue of new securities
2._,‘Replacemenic oquul \_me Sl *Earmngs Per Share
8 Credit Sa]es 1"‘; 3 £, S8 . {qumty Per Share |
4. Credit P:ur,c_h\ases»‘ B : d.Excess of sales over BEP ‘l
i 5. EPS CESSE “International Trade |
6. Working Capital CA-CL
7. MO B Debtors
SB usShares \‘ - Creditors
9, F }::Q‘:éif;‘ati’(oni COStS SSE i. Free Shares

J- Capital Budgeting Decisions

k. Liabilities + Equity
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Paper / Subject Code: 77807 / Corporate Finance

Q-4) Aarohi Ltd is considering two mutually exclusive machines. Both require an initial-outlay of .=~
Rs. 1,00,000 each and have a life of 5 years. The company’s required rate of return is 10% and tax .
is 50%. The projects will be depreciated on a straight line basis. The proﬁt Defore faxes aref}’f

expected to be generated by the projects as follows:

Year | MachineA |  Machine B

1 40,000 © 60,000 .
2 40,000 ~-30,000 -
3 40,000 - 720,000
4 40,000 - | 50,000
5 40,000 50,000

Calculate and state which machine should be purchased based on:
i) Profitability Index and

ii) Payback Period
SEORS,

Q-4) Company is considering two mutuahy exclusive proyects Bo{h require 1nmal investment of
Rs. 2,00,000 each and have a life of five years The Vet Cash Inflows are glven be] 8]
Year | Proposal A | ProposalB | PV factor ‘Py,__»fgctor

2 | 53
3 <5580
2

The cost of cap1ta1 is 10%.. W ' h prOJGCl snould be accepted as per NPV Method. Also find IRR,

taking IO% & 20%. dlscountmg factors o]

(08)
(©7)

'Q-S) Writeshort notes. on: (A‘ﬁj?’three) < 15)
I)T Features of Capital expenditure decisions
| ~2) Break even Analysis. - ' / ‘
3) Importance ofCoxporat,é F"inénce
- 4) Qualiﬁes of Finance Man%ger
5) Over Capitalisation.
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Paper / Subject Code: 77808 / Business Econimics II
S Q. P. Code: 35203
(2 2 Hours) U afand,
- [Total Marks: 75]

N.B : (1) All Questions are Compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagram wherever necessary.

Q1. A) State whether the following statements are True OR False: (Any8). S L 8 5

1. The concept of national income is a monetary measure.

2. Trade cycle is recurring in nature.

3. The precautionary demand for money is utilized for unfcreseen contingencies.
4. Cost push inflation is also called as wage-spiral inflation.

5. Government intervention helps to reduce the impact of market failure.

6. Income tax is not a type of direct tax.

7. Ricardo’s theory is based on absolute difference in cost.

3. Arbitrage does not help to equalize the exchange rate.
9. Quotas are less effective than tariffs.

10. Foreign Direct Investment (FDI) does not involve transfer of technoiogy

Q1. B) Match the following pairs-(Any 7) SISO 7
Gmpp Tl : Ao A A "Croup ‘B’
1. Gross Domestic Product (GDP) - 5 OIS s AqCépigd .Universally
2. Investment Demaﬁd:" . : b. Cééh rRe.s‘erve Ratio (CRR)
3. Inflation targeting g e e curve

4 Direct control 4" d. Trade Account

5. Fiscal policy e — |e. Productive Expenditure

6. Expenditure onEdiiEgiti?on T PE O £ CHHG

7 Expor:tfof‘Gbods’ S 5 : g. Spot rate

h. Price forecasting

1. Marginal Efficiency of Capital (MEC)

j. Taxation
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Q.2

O
s

Q.5

Paper / Subject Code: 77808 / Business Econimics II

A) Discuss the circular flow of income in a two sector economy.
B) Highlight the foui main phases of a trade cycle.
OR

C) Examine Keynes principle of effective demand.

D) Explain the working of multiplier with a suitable example and diagram.

A) Briefly explain the Keyneésian approach to demand for money.
B) Explain in detail velocity of circulation of money.

OR 7 PR
C) Discuss the effects of inflation on production and consumption.

D) Outline the main objectives of monetary policy.

A) Highlight the principle of sound finance.
B) Analyze the various canons of taxation.
OR =
C) Describe the main features of FRBM Act 20(}3;7‘7

D) Define public debt. Explain its various types.: : il

erte short notes -on the fellowmg (Any 3)
a) Gross Naﬁonal Preduct'(GNP)

b) Cambrlve cash balance _'proach

c) Spot exchange rate

d)- Role of Mulnnatlona ,Corporatlons (MNCS)

e) Net barter and Gross barter terms. of trade.
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Paper / Subject Code: 77809 / Debt Markets-II
0L~ 05 - (9

Duration: 2% Hours Total Marks:_‘75

N.B.: (1) All questions are compulsory
(2) Figures to the brackets to the ri ight indicate marks.

Q1. (A) Fill in the blanks (Any 8): (8)

(1) Effective duration is a duration calculation for bond that have
(a. Longer maturity, b. Embedded Options, ¢. Shorter Maturity)

(2) Hybrid bonds have the features of both . and Debenture.

(a. Bond, b. Equity, c. Options)

3) bond has higher risk. (a. Junk, b. Corporate c. Putable)

4 portfolio includes stocks/bonds with high risk/high return.
(a. Aggressive, b. Passive, ¢. Market Linked) '

(5) An example of leading economic indicators include
(a. Consumer Price Index, b. Trade Balance c. Consumer expectations)

(6) A bond's rating indicates its
(a. Reinvestment risk, b. Default risk; ¢ Interest-rate risk)

(7) A bond with a coupon of 9% When interest rates for similar maturmes are 1 l°o will
sell _(a. Above par; b: Below par, €. At par) :

(8) An actively managed equity fund expects to
(a. Be able to beat the benchmarks b.Earn the same re'
¢. Underperform when: ‘compared with the benchmark)

(9) The duration of a 1% year zero-coupon bond is
(a. Smaller than 15, b Larger than 15, ¢. Equal to lS)

(10) A call provrsmn m a debt 1ssue allows theissuer t
(a. Call out the names of the i rnvestors _b; Redeem tl

]

debt _on' maturity,

Ql.(B) Match the following columns (Any 7) e | (7)

' Colnmn A S : ~ s Column B ;
YT™M S = I Rate of Return ‘

T E7

l Price value ofbasrs pomt l b- ] Asset Allocation
l Valuation of Bond > £ 4% (5 ’ Capital gain or losses
! Forward Contracts -~ d [ Dollar Value
] Central Government Securmes e f Inverse
6| ' f
g
h
i

PHCC —yield. relatlonshrp Mortgage-backed securities

Interest rate risk- < Not Exchange Traded

~| Sub-prime crisis. | Present Value of Cash flows
“Portfolio Management | Semi-annual coupon payments

0. Con31stency of Returns J | Objectives of Portfolio Management

S
<
K
|
l
|
|
Li

ﬂQ2 (a) Deﬁne F 1xed Income 'Securrtles;‘Explam its advantages and disadvantages’ (8)
(b) What are corporate Donds” Explam 1ssue and classification of corporate bonds. 7
: ' OR
Q2. (c) What are the rrsks associated with investing in bonds? (8)
: (d) Calculate the:value of a 3 year, 9% coupon bond with par value of Rs. lOO on which
mterest is payable semi-annually, if the required return on this bond i 1s 12%. (7)
Page 1 of 2
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Paper / Subject Code: 77809 / Debt Markets-I1

Q3. (a) Explain in detail Macaulay Duration 4 . \ (8)
(b) What is Convexity? Explain with diagram. (7)
OR :
(¢) Calculate Macaulay Duration of 6 year bond, carrying 6%'annual coupon of face value
of Rs. 1000. Interest rate is currently 6%. The bond pays ‘coupon-once in a year and pays :
the principal on maturity. (¥)
(d) A 8% annual coupon bond has 2 years to maturity. The interest rate tree is shown in the
figure below. Calculate the value of the bond today under following different scenarios
if face value is Rs. 100: @)
(1) Bond is option free
(ii) Bond has call option and cali price is Rs. 100
Payment of par value Rs. 100 24
and Couror: of Rs. 8
i=7.5% o AT
i=4% \4 Payment of par value Rs. 100 :
b and Coupon of Rs. 8 o
Payment of par value Rs. 100
and Coupon of Rs. 8
Q4. (a) Explain the Impo'f eof E{ nomic Inurcamrs SIS (8)
(b) Explain the 1mpact of Su P risis on the India Bankmo System @)
: R ,
Q4. (c) What is Index of Industrlal Pr@ductxon (HP)‘? E\p ain its swmﬁcance , @)
(d) Expl am the causes of subprlme crxses ' (8)
Q5. (a) What do you mean by Bond strategy9 Fxplama_Bond Investment Management Process. (8 ;
(b) What do you mean by Acnv -Bond strateg Explam its strategies. @)
(15)

Q5. (c ) Wrzte Short \Iotc (Any 5) -
(1) Fixed Income Market Part1c1pantq
“(2) Convertible bond va]uatlon
‘(3‘ GDP and Bond Markets

............
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Paper / Subject Code: 77810 / Equxty Markets-I1 PR

A
;);2‘- mft’ji,ﬁﬁiq

H
{

~J
9]

Duration : 2.5 hoﬁrs Marks :

Q1. A. Maich the following: (Any 8)

E Column A

] D58
Column B sl

J’ Intrinsic Value

1. J Rolling Settlement ; a
2. | India VIX | b | Bluechip stocks
| 3. [ Depository f ¢ ,’ T+2
f 4. l Registrar & Transfer Agent ] d mend per share/Market Price Per Share
L S. } Fundamental Analysis f e [ﬁsm\estmem
,L6 ’ Category A Shares , f ( NSDE "
| 7. | Dividend Yield | g | Volatility Index
L 8. ) National Investment Fund } h [ 1988
L9 ’ SEBI f S ] Foreign Nationals Invest in Indian ) fa?\i‘
| 10. [ FII ; ;‘ | CAMS

|

B. State whether True or False: (Any 7 )
1. Demat reduces bad deliveries of sh/‘res
2. SEBI Board should definitely hava
3. A current ratio is calculated as a ratlo ot i ’
4. Open interest is the total numbpr of outstandmg contrac. :4of futur
5. Rights issue proposes to: 1ssue ﬁesh securities ro its exmm :ehoIder s on record date.
6. Cost of equity shares depend upon<the expectations of the- eqmty shareholders
7. A beta coefficient of I indicates that the risk of the security is equal {0 the market risk.
8. Bulls are those mvestors Wh{) believe that share price is 0omo upwards.

1'9. Sub brokers are-agents of the stock brokers
10. A quote dnven market IS where deaiers adjust their quotes continuously to reflect supply and

demand.

Q2. A. Whati 1s dematerlahz ion? Explam its adv antages and disadvantages. 8
xplam ‘he reou]atlons for a registrar. 7

8
7
8
7
S C Explam the: fol]owmg terms: 8
a, Resmtance o b b. Earning per share c. Candlestick Chart d. FPO
‘iésass RS Page 10f 2
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Paper / Subject Code: 77810 / Equity Markets-II

D. Explain the models for valuation of securities

Q4. A. Explain the Efficient Market Hypothesis Theory g , g
B. Explain Beta as statistical analysis model 7
OR
C. Explain the Random walk theory and its limitations | g | A5 GE 8
D. What are stochastics in equity markets? Explain in detail. =~ T SEas e
Q5. A. Explain the entities involved in the clearing and settlement system, . FEAE ety

B. What is NEAT? Explain in detail.

Write short notes on: (Any three)

. Role of brokers

. Functions of stock exchange = -
. Private Placement P
. Disinvestment =
. Market Related Factors aﬁ:@é

FEUR DS T NG R
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} Paper / Subject Code: 77813 / Personal Financial 1 Planning TS S S
< O(’i 5 O‘fj— /c]
Time: 3 5 hours Marks: 75
Note: All Questions are Compulsory / The abbreviation PFP stands for Personal Financial
Planning.
Q.1. (A) Multiple Choice Questions (any 8) (8)

1) Don’t keep all the eggs in the same basket is related to
(a) Live healthy life ( (b) Diversified portfolio (¢) earn profit (d) None of these

2) Parameter for deciding on investment options is
(a) Reputation of the company (b) Diversified portfolio (c) Post tax return (d) None of these ,

3) Fixed Deposits with SBI is investment.
(a) Moderate Risk (b) Diversified (¢) High Risk (d) Low Risk

4) Health Insurance and Mediclaim is related to :
(a) cash generation technique (b) investment option (c) investing in shares
(d) health & medical planning

5) Value investing means :
(a) cash generation (b) Stocks are selected that trade for less than intrinsic value (c) Stocks

are selected that trade for more than mtrmsrc value (d) heaIth & medrca} planr'no 3

/ill beithe 'Njominal Rate of

6) If 1.5% per month 1nterest r> earned he 241

return?
(a) 36% (b) 24% (©) 15%(d) 16%

7) Effective rate of return consrders . rnterest
(a) Compoundmt7 b) Srmnle (¢) Exponential (d) Inﬂatlonary

8) IRR is the rate of return at Wthh present vaIuevof S
(a) Outﬂow & Inﬂow (b) Debrt & Cre lrf(c) Income & Expenditure (d) Profit & Loss

9) If the amount rnvested m\mutua] fund is Rs: 1 OO OOO and after 4 years the sales proceeds
are Rs.1,35,000; the CAGR willbe
(a) B 791% (b) 35% (c) 18% (d) None of these

; lO) Ifamount avarlable to E ‘ulty shareholders 18 Rs.2,00,000 and number of Equity shares
tareVZO 000; the EPS wrll"’bf LTSS

ine

‘ (7
- )l A stead of creatm0 portfolio is the positive investment style.
etermmmo current fi nancral posmon of the client is not required while preparing

] ﬁnancral plan, ¢

S ue. Whrch comprises of planning for and controlling of cash.
4) Real rate of return 1s the mount of money generated by an investment before factoring for

cremental‘rate of returns is a metric used in capital budgeting for measurmo the

o prof tabrlrty of potent;al investments.
6) Evaluatlon of investment alternatives is not required while preparing the financial plan.
7) Budoetlng & forecastm0 means the same concept.

66914' i g Page1of3
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Paper / Subject Code: 77813 / Personal Financial Plénning =

8) Information available in the cash flow statement is useful in assessm0 the ablhty ofan AR
enterprise to generate cash. —

9) Net worth is the difference between assets and liabilities of an mdxwdual ;

10) High P/E ratio is one of the most commonly used metric in Value mvestlno o

®

0.2 (a) Explain “Establish Client-Planner relationship” as a step in PFP N
(b) Explain the points to be considered while developing a financial plan. ‘ (D
OR
Q.2 (p) Explain the reasons why an Individuai should Save money. Ta (8)<
(g) Mention the Cash inflows and Cash outflows in financial plam _ F):
Q.3 Prepare an amortization schedule for Mr. Patil from the following mformat]on g G L s

assuming that the amount payable is an equated annual msmlment ST
Amount borrowed: Rs.4,40,000 ¥
Compound Annual Interest: 12%
Repayment period: 10 years : i
Note: PV annuity for 10 years should be considered as 5.6502 302~
OR A S
Q.3(p) Dr. Prasad purchased 400 shares ofDMART @ Rs.61 each on: 15t chober 2014

He paid the total brokeraoe of Rs.600. The compan\ pald the foHowmg d1v1dends €))

Year Total
Dividend Rs.

June 2015 800
June 2016 1000 =
June 2017 12007 -}

He sold all his holdmos for Rs34, *OO on 1\“‘ October 2017 Calculate Holdmo Period
Return. St

n foHowmo information prowded Y

- [Tl

(q) Calculate EPS bas" (7)
! Rs. g
Sales : 18,00,000. - |
Cost of Goo» Sold s S S R260005 S
Operating Expenses S RA3000007
Intergste v+ &% o N 8000 S ()
Taz EF o o S > 30%
Preference Dividend -~ &« < <3790, 000 .~
No of eqult / shares 18 OOO
ok 4 Prepare Cash Budoet_ £ Motllal hmlted from the data given below for a period of six
5Ty months (July to December) = (15)
&< Menth & - Sa]es (Rs.) . Purchases (RS.T
ey, S A0S ~1,87,500 93,750
lJune ¥ £.87.500 93,750
: ,,;f 375, 000 1,31,250
Angust 0 O | 9,18,750
September 3,18,750
“October 2,43,750
November . 3,75,000 1,68,750
December™ = 3,43,750 -

i) Collection. estnﬁétes 5% within the month of Sales, 80% during the month following the

66914
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=+ sales and 15% durmo the second month following the sales.
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Paper / Subject Code: 77813 / Personal Financial Planning

i1) Payment for purchases is made in the next month.

iii) Salary of Rs.28,125, Lease payment of Rs. 9,375, Miscellaneous expenses Rs. 2,873 are

paid each month.
iv) Monthly depreciation is Rs.37,500.
v) Income tax Rs.65,625 each is paid in September and December.

vi) Payment for research in October Rs.1,87.500.
vii) Opening balance as on 1% July Rs.137,500.

OR
Q.4 From the following data supplied by Yog limited, evaluate the Car manufacturmo
projects based on NPV and advise the management as to which project should be

continued and why?

Particulars Maruti riat Toyota
Initial Outflow 40,00,000 60,00,000 | 80,00.000
Inflows: ;
Year 1 6,00,000 §,10,000 12,00,000
Year 2 12,00,000 16,20,000- |~ 24,00.000 |
Year 3 15,00,000 | .. 20,25,000 | - 30,00,000 |
Year 4 21,00,000 |- 28,35;000-| ~42.00,000 |
Year 5 4,50,000: <56 ,07,500 -1 9,00,000
Year 6 7,50,000-| 7 ~10,12,500 | 15,00,000 | ,
Year 7 12,60,000 :17,01,000° | 2520,000] &
You need to apply the discounting factors me:nthnebd'bélkowzf“; :

Year 1 AT S, RPES) S

Def@10% | 0.909.10:826 | 0751} 0:683 | 0:621 0.564 | 0.513 |

Q.5 (a) What do yd\u mean by behavioural finance?
(b) Explain the role of emotions in financial decision making.

OR .

Q.5 Short Notes (any 3)

1) Effective rate of return

2). M@tlves of heldmg cash
T "

© 5)Education Plarmmg K

S 66914 g § Page 3 of 3
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